XX 5 TE5 Ii% EiE EE BB | AnY BITT FE
dtEE-Et |HHE  [HEALH TP125 HP__ 1000 37.3| 1 TR0 20
dtEE-REt |EFE |BEMET TP125 HP__ 900 334 1 306 A 2
dtEE-EdE |EFR |EEH AVLT =Y HP__ 250 585 2 FTrsosag| %
fomiE-Et  |BFE ke RYLTF—Y HP_|250 6553| 1 | FmoomiA| 2
dtEE-wdE LR |[JEET TP60 HP__ |300 32.75] 1 Fr2oEiigl 2
dbEE-EA IWRE  |FEETH TP95 HP__ 600 21.93] 1 TR0 Al 2
dtEE-wEdE LR |JEET TP95 HP__ 600 26.9] 1 Trsoseg| %
dtEE-REE =R |RNET T2 IE—ILV VP __ 200 33 1 Fr2ogi2g| 2
fomiE-mEt  |EEE |iah 3K 607.5 TroEiig] 2
g Rk [fEBE  |ES I—RE—) HP_ |250 168] 1 Tz %
dtEE-Et  |iEBE BT AyIIVA SP__ 1600 7.75] 1 FRs0EiA| 2
g Rk |[fEBE  |ES FUONE—LS= | HP  |250 0868| 2 | Epgoosion| 2°
dEE-Et  |iEBE  |BUTT AE—5— VP__ (200 90.51| 2 TRz 2
dmE-wEt  |EsE |Ews st 35,1602 Fmsomaf| 2
Lt |EBE (B STi 2090 i Frisos3p| 2
ImE-Et | |EmET Bt HP_|800 17| 1 Froofon| 2
R{E#-dLE [EHE [RRED FUOIE—ILSZ HP__ 1250 93.4| 1 Fr2oEiig] 2




XX 5 TE5 Ii% EiE EE BB | AnY BITT FE
RiE®S-dE [HER |HEH TP60 HP__ 250 91.35 3 TrooEiigl 2o
PlE#-dblE  |$HBE | b RYLF—Y RS [350 05.925 2 Frioossp| 2
RiE®S-JE [HER |HEH AVLT =Y HP__ |250 49.25| 1 TroEiog] 2
PiE#-kEE  |#BR |HEdw RYLTF—Y HP_|250 2176| 3 | FmoomnA| 2
RiE®-JE [HER |NHEWh AVLT =Y HP__ 250 1715 4 Froosiig] %
PlEd-dlE  |[ELE |E@E Oys2UA sp_ |aoo(150)|  1555] 1 | Emoes11g|  2°
FiE#-dtE SR |SEH SHI= SP___[1000 255 1 FrofEi2g] 2
PlEd-dkEE  |EWE sk awUk HP__ |800 08| 1 Frioomsn| 2
BiEH-kE  |ZWE @b 2=a— HP_|900 57 1 Fr2omon| ¥
FREM-JLRE [REBE |[fHEET TP75 SP__ 600 11.36] 1 Frsoesg| %

ESES RE# |AEFH TP60 HP__ |250 74.05] 2 FRs0EiA| 2
ESE RE# | AR TP75 HP__ |500 48.45| 2 T30 2
ESES R [ERKX TP75 HP__ 500 76.3] 1 Tris0Esa| 2
B RE# |[PRX TP95 HP__ 1400-600 120.8] 2 Frooson| %
ESES REHE | AYLT—=Y HP__ 1300 7.567| 1 FrotEion] 2
ESES R [MIIX RAYLT—Y HP__ 300 14.033| 1 TroEiog|  2°
ESES RE#H | KHARX iR HP__ |1100 280.6] 1 Frs0Esa| 2




XX 5 TE5 Ii% EiE EE BB | AnY BITT FE
3B MRNE |#EEh TP75 RS 500 259.6| 6 TroEiog| 2
B BE)NE | TP75 HP__ |500 41.76] 1 TR0 A 2
S MRNE | TP95 HP__ 600 41.28] 1 Trooseg| %
ESES AE)E |FRERET RYLT—Y HP__ |250 167.82| 4 FHi30EsA| 2
S MR AR T AYLT—Y HP__ [250 165.2| 3 Trsoer| %
ESE ARNE |/MEET AYLT—=Y HP__ 1250 11.75] 1 Fis0gEsA| 2
S ARNE |/MEET RAYLT—Y HP__ |250 142.45| 3 Trsosen| %
EEES AE)E |FBERT I—XE—) 29540 1500 18.4] 1 Trsosrg| %
ESES ARNE |[FRET I—RE—)L HP__ 250 70.11] 1 30| 2
B MR |[HEET AT HIE SP__ [350(200) 209 1 Frsosag| %
ESES ARNE [/MNERT IS THI¢E SP__ [800 45| 1 Frr2otEion] 2
ESE MR)NE |#EEh NE—FE—)L SP__ 1350(200) 15.35] 1 Frsosag| %
ESES ARNE [BEAT ANE—FE—)L SP__ 1350(200) 7.72| 1 FrrotEion] 2
B ARINE | FriEth RE—FE—JL SP__ 300(150) 3.6 1 Fris0gan| 2O
ESES ARNNE [FHFhH NE—FE—JL SP__ 1300(150) 6.2 1 FRs0EiA| 2
3B MR)IE | ABEET IRIRE—IL HP__ 900 29] 1 FroEizg] 2
B= AR)E |FRERT av R HP__ {900 122 1 Fris0Esa| 2




XX 5 TEGH Tix EiE EE BB | AnY BI5ET FE
B ARNIE |[FRET avw R HP__ 800 49.75| 1 Frsoeag| %
ESE RIS | KBEET iRt HP__ [1800 77) 1 FRs0EiA| 2
S MRNE |#EEh pajs| HP__ 900 149.8 3 TroofEizg] 2
Bz e EINLAPN: i 30O HP_ |1800 of 1 Ersossn| 2
S ARNE | FiEH AE—F— SP__|200 23.85| 1 Frsogea| 2
Bz )R | FBET g 3.3702 Tmsos2f| >
S AE)NE |BEAH E- 953 9,5209 FrofEi2g] 2
ESE ARNIE |/NEET E 1,7852 Froomog| %
ESES ARNE |/MEET I 26,9000 Frs0E7A| 2
B WIS | E %3t TasoEia| 2
L )R | E 64,1008 Emoofsf| 2
B )R | %3t oo gl 2
ESES ARG [KREET g3z 42,3002 FrofEi2a] 2
B )R | KEEET £33 160,0009 TR %
L )R | FixH 3 6.2002 Emaos2f| 2
B WENE |HiE e TmsogiA| ¥
B= MR)NE [##EH 3 2(5)88. 1-3-3 FrsoEig] 2




Hh X X 53 TEEM Ik EiE EE PEEE | ANy IS T FE
ESES MRNE |#EEh LT 3000 2 Frs0Eia| 2
FiEd 22118 |/NE B STH 1550 2-2 |  EmsosrA| 2
Bz eI ST Fmoofi0f| >
Bz )R | i Eaootig| 2
ESES ARNE [FiFh S }ggg. 1-1 Trsogea| 2
ESES TER |[iEd I\ THIEE SP__ |800(350) 18.5) 1 Fris0tEag| ¥
ESES TERE |[mE#h AT SP__ 1400 31.93[ 2 Frsoesg| 2
ESES FER |#h avUR HP__ [900-800 1948 2 Frsogsn| 2o
ESES FEE [#h I 8,938¢ T2 %
ES BERE |=#h TP40 SP__ [300 18.106| 1 T30 20
ESES BER |FR™ TP40 VP [200 61.945] 4 FrsogErg| ¥
BEY BER |EEW TP40 VP [200 62.95 2 FRk30%E2H 29
ESES BER /NI TP60 HP 250 12.55] 1 FrrsotEag| ¥
EEY BER |[BXH TP75 HP 500 303] 1 TRk29%108 29
ESES BER |FR™ A)LT—Y HP__ [250 176.254| 6 FrrsotE2g| ¥
ESES BEE PR A)LT—Y HP _ [250 156.1| 4 Fs0E3n| 20
ESES BER [Ah RA)LT—Y HP__ [250 1955 2 FrsoEig] ¥




1h X X 5 ITHISH Ti& Eig EE PERE | AnY BIZTT FE
B BER |8yET AYLT—Y HP__ |250 4811 1 TR0 20
ESE BER [FrR™ NE—E—)L SP__ 1400(200) 75 1 Frs0E7A| 2
1000(FRP ‘ 29
EES BEE |RIIH SH SP__|M800) 54.83] 1 FR29%128
ESED BER [FrR™ AE—F— VP__ (200 1425 4 Fri20tEi0n] 2
B BER |[FR™ AE—5— VP__ 200 8.25| 1 Trs0E7a| 2
ESE BER [FrR™ AE—H— VP__ [150 153 1 FHs0E7A| 2
B BES |=fh %3E Fasos2a| 2
EEES BER |#HED 3 14,2564 Trooseg| %
Eik BER | =@ e Fmsosef| 2
ESES KPR [FEEH TP75 HP__ |500 66.4] 1 Frsogan| 2o
ESES KPR | KGEHET = HP__ 350 184.33| 2 FR2ofEiig] 2
B WBARE |[EHH I\ THI SP__|700 78] 1 Troi2g 2
Lk AR |£%h 3 TriooEi2g| 2
B AR |fSH ST 2090 2 | wEmoogi2A| %
Eaki] =55 |mmer RYLT—Y HP_ |30 8092 2 Frsosip| 2
ki) KEiF  |WET RAYLTF—Y HP__ [250 665 2 Trsogig] ¥
Caki] KRR |t5A5H RYLT—Y HP_ |250 166 1 | Epoonig| *




XX 5 TE5 Ii% EiE EE BB | AnY BITT FE
5[] ABRAEE | KRBRT N THIE SP__ 1800 30| 2 TroEiog| 2
5[] KERFEF  [KBRH IS THIH# SP__ [1200 202| 2 305 A| 2
5k HARRT | &R TP75 HP 700 19.6] 1 T30 2
BiF wEE |EEd TP75 HP__|400 o] 1 Frgsos2n| 2
Eaki AR |77 BT RYLF—Y RS [300 7625 1 Frksos3g| 2
5[] IR [EHH AYLT—=Y HP__ 1250 1954 6 TR0 A| 2
B 7S AFULE |FIFRiL RYLF—Y HP_ |250 164.75 5 Fmaoesg| 2
P E Wag [EEM NE—E—JL SP__ 1300(200) 71 1 Frsosag| %
hE WOR [EEH E 953 13,9002 TR0 2
P E WAR =B St 2000 1 Frsosag| %
& LEE [=Rh TP75 HP__ 400 19.7] 1 TR0 2
E LER |LEEH I\ THI SP__ 500 26.89| 2 Frsosag| %
i EBE B 3 Frzofon| 2

2000+ & ‘ 29
& LR |MEH ST R 11+ TER2949H
i EBE B STi 2000 i Froofon| 2
7Y =] RS |l TP95 HP__ [350 68.15 1 TrooEiigl 2o
Py [ FRE [#lrh TP125 HP__ 800 745 1 Frs0E7A| 2




Hh X X 53 TE5M I B EE PEEE | ANy IS T FE
U Ed FEE |Hlh AY)LTF =Y HP 250 59.82[ 1 TR2949H 29
ue]Es| FIRE [Hlh RA) LT =Y HP__ 1300 73.68] 1 Fri2otog| ¥
o =] ZRE |[flh AYLT—Y HP 250 200.44| 3 TRk29%128 29
Py [ FIRE  [HARTET RA) LT =Y HP__ 1250 19.58] 1 Fris0tEag| ¥
Y =] BREE |EEET RA)LT—Y HP _ [250 12.05] 1 T2 %
Py [ FRE [AED RA) LT =Y HP__ 1250 4275 1 T2t 2
Y (=] FRE |FAKh A)LT—Y HP 250 342| 1 TRk29%128 29
Y =] EiEE [FEET RA)LT—Y HP__ 1250 233 1 TroEi2g 2
2] BIER  |FmEh RYLF—Y HP__ |250 43] 1 Frksos2n| 2
o [=] ZRIE | HEERET AYLT—Y HP 250 32.23[ 1 TRk 30%E4H 29
ue]Es| FIRE [FRE RA)LT—Y HP__ 250 10355 2 T2z %
UEd ZRE  |[flh Ay IA SP__ ]800 57.4] 1 FRK30%E7H 29
ue]Es| FIRE [SAT RE—FE—)L SP__ [300(150) 6.8 1 Tt %
= BIEE |t RE—E—)L sp_ |3s02000| 103 1 Trkoomep| 2
ue]ES| FRE [l NE—FE—JL SP__ [250-300 19.2| 2 Frsogsg| 2
Py =] BREE |EEh RE—E—/L SP_ 1350-300 12.75| 2 TRk30%E2H 29
ur]ES| FRE |AKh T 5= SP__ |800(600) 342 1 FrisotE2g| ¥




IR X 53 TG T3k wE | E® | EE | Aavv| BIXRT £
Y (=] ZBIEE [#MUTh T ILE—ILV VP 200 125.36] 6 L3056 A 29
Y (=] BIRE |AEm FUOILE—ILZZ HP _ [250 128.3] 2 T 304528 29
Y (=] ZEE ([#MlTh avok HP 800 71.75] 1 ER30E1A 29
Y =] BIRE |AEm T<CHEI SP__ [350 74| 1 T 304528 43
Y [&] BREE |S8 JayoR—yog SP__ [s00 26.96] 1 ERK305E1A 29
e BIEE ok - Froomizg| %
e BES |44 E 15,9748 Trzogigl 2
Y [&] BIREE |[SAM 94 2,352 T 304E3 8 2
e BiEE  |mEd R ot 45608 Froomizg| 2
wled BEE |l it Troogeg| 2
wr[Eq BIEE Wl 5T 52,4002 Tz 2
e BIEE |l it Trsogag| 2
wled BIEE  |HiEES 5E 54,3140 Trsogig] 2
e BEE  |FEEh it Froow1ig 2
wled BiEE  |FmEh 5E 3,870 e 231 I
Y (=] ZRE |AEEH E- 9 3,136 TRk30&2H8 29
Y (] ZIRE  [FAEM E = 7,2340 30438 &




X X5 TEIGm Tk EiE (=gEs BEEE | AnY WBISET FE
=] BIEE  |FEEH E- e 59,7450 30438 i
] BIEE  |@EEh x Frisosg| 2

- 2000~ 99

wEs| EEE |SAT T 1500 1-1 ER304E3B
2000- 99

T =] TEE |AETD kYR N 1500 1-1 TER294E11 8
wEs| EEE  |WEET VA1) 2000 1 ERK3045F28 ad
B 2000%587 99

w]Es| ZEE |AETD KV 5 1 ER30E28
- 2000~ 99

wEs| FEE  |@EET STHL 1500 1-1 ER3045F28
- 3000%628 99

wEd BZigE  |EEH SLin 0 1 ERK30E3B
wEs| EFNE  [=KRHEAT a=a—y VP (200 257 7 ER304F28 =3
T =] SRHE |SfTE A LT —8 HP [250 2013 5 ERE29498 29
wlEs =8 |Zam 2 LT —5 Rs  |300 637 1 Frsoeen| 2
Y =] SHE |SHh =¥ 139,2000 ERK29F118 &
w]Es| EEIE  |IBftH a=3a—> HP  [1000 340.06] 1 ER295%8 8 29

JUIN - §E EEE |EAH AYLT—4H HP  [250 68.7| 1 FERK29F118 a8

JUN - R EEE (AR XT RKILDs> RM 400 34109 3 TER294E128 23

JUM - E EBIR | AOEH AR)LT—9 RM  [290 106.1) 1 FERE29498 29

JLN - iR EER  |AHAOEHT 2 LT—5 HP  |250 102.1] 1 ER30E28 &8




XX 5 TEI5/H I% B B EERE | AnY BISET FE
AM-E  |EEE | RYLT—Y RS |30 110833 2 | Fproosiog|
Fui - EER  [/IMEh RA) LT =Y SP__ 1350 12.51] 1 FrsogErg| ¥
MR |AHE |pEEd RYLT—Y HP_ |250 58] 1 Trisosen| 2
Fuil - hiE X728 |FkEh I—XRE—)L HP__ [250 15 1 Friooizg| %
Ju - i AR |[EET RE—FE—JL SP__ |250(150) 4.85 1 Frsogea| 2
M-8 |KHE K RE—E—JL sP__[350(200) 48] 1 Frioosn| 2
Ju - i AXHE [ Kah T ILE—ILV VP [200 1095 1 Tri2oen| 2
Fui - XoR |F&h E 6,8002 FrsoEig| 2o
M-8 KB |pefats 3 31,2000 Trkooen| 2
Fuil - i A8 |&EH E 27,2269 Fr20en| 2O
M-8 KB |pefadh 3 61.400 Frksosag| 2
MR |ASE Ko it 7.2008 Trkooep| 2
M-8 |KHE  |FiES e 2000 i Frksogig| 2
MR |AHE  |pEEds i 1500 i1 | Feksosap| 2
MR [AHE K i 2000 3 Frkooen| 2
Fup - b REARIE  |ZEiET TP75 HP _ [500 4231| 10 Fraogg| 2
Fu - i AR [HE5H TP125 HP__ 800 85.32] 1 FrisotE2g| ¥




XX 5 TE5 Ii% EiE EE BB | AnY BITT FE
FuH - it BEARR | ERAwiRET AE—F— VP__ 300 161.2] 3 TroEiog| 2
FuIH - ik ERR |EI&TH AyOIVA SP__ 1400(150) 59.15| 2 FTri2osA| 2
A8 BB |=pa ATl sp__|s00 2848 3 Fmaomaf| 2
Fu - ik EIRR | = 5HET AE—5— SP__ |450(300) 95 1 FH30EiA| 2
Ju - i =R |)IEEET AE—5— SP__ 1300 13.75| 1 Frsoesg| 2
FuH - it ERSR BRSS! TP95 HP__ 450 56.39| 1 FR20fEi28] 2
Ul - B BEREER|&EXh RAYLT—Y HP__ |250 91.5( 2 Fr2ofEion] 2
Uil - B BERER |&Exh RYLT—=Y HP-RS [250-300 81.5| 2 Fr201ig| 2
FuH - i BREE |E/XEH AYLT—Y HP__ |250 84.46| 2 Fr2ofEiig] 2
Fuil - i EREE[EXET AVLT =Y HP 250 55 1 Frsosag| %
MR |ERBE |EES POIN = HP_|250 55.5] 1 Frksosan| 2
M-8 |ERBE | ERES RYLTF—Y HP_ |250 511 1 | Epgoosiog| *
M-8 |EReE |ERE® RYLT—Y HP_|250 21.94] 1 Frsossa| 2




